
 

Verze pracovního listu: 23.06.1 
 

 
Pracovní list 

Násobení a dělení přirozených čísel se 

závorkami 

Úkol: Doplň tabulku.  

Varianta 1    Varianta 2 

PŘÍKLAD VÝSLEDEK PŘÍKLAD VÝSLEDEK 

4 . (78 : 26) =  4 . (5040 : 63) =  

(6588 : 9) : 4=  (66740 : 5) : 2 =  

180000 : (5 . 1000) =  39600 : (4 . 100) =  

8786 : (23 . 2) =  744 : (2 . 31) =  

3280 : (64 : 4) =  96 : (12 : 4) =  

(672 : 32) . 8 =   (996 : 12) . 42 =  

10 . (636 : 4) =   2 . (644 : 7) =   

(6 . 8672) : 8 =  (5 . 14142) : 6 =  

4160 : (64 . 5) =  8855 : (55 . 7) =  

0 : (21 . 65) =  (25 . 0) : 33 =  

2 . (3900 : 26) =  3 . (4576 : 16) =  

(85600 : 100) . 6 =  (78200 : 100) . 4 =  

80 . (6588 : 9) =  50 . (7440 : 62) =  

180 : (54 : 6) =  360 : (48 : 6) =  

48000 : (200 . 20) =  78000 : (200 . 30) =  
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